PART - DAC8822QCDBTR
· DAC implementation in tina
Clk in of 1Mhz.
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· [bookmark: _GoBack]Output Wavefrom. Applied input frequency 1Mhz. output observed in graph Vin is between 5V to 10V.
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· Schematics on Board.
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WR & LDAC is connected to 1Mhz clk through inverter,A0 = 0,A1 = 1,RS = 1 & RSTSEL = 0;



· Settling time 
[image: ]
· DAC8822 has settling time of 0.5uS, if we set the frequency to 1Mhz the output will be as in the below wave. As in the below Fig the wave swing is between 7V to 9.5V,but the required swing observed in tina output wave is between 5V to 10V.
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· If we set the frequency to 250Khz the output will be as in the below wave.here the time increased from 80us to 318us.If we decrease the frequency from 1Mhz to 250Khz we are getting the required wave as in tina out wave.
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FEATURES

e +0.5LSB DNL

e +1LSBINL

e Low Noise: 12nV/VHz

e Low Power Operation:
Ipp = 11A per Channel at 2.7V

¢ 2mA Full-Scale Current, with Vggg = 10V
e Settling Time: 0.5us

+ 16-Bit Monotonic

e 4-Quadrant Multiplying Reference Inputs
¢ Reference Bandwidth: 10MHz
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